Use the steps for recording data in the calculator and then answer each question below.   Record one answer for each  question on the Group answer sheet.

1.


	Year


	1985
	1986
	1987
	1988
	1989
	1990
	1991
	1992
	1993

	C.P.I.
	107.6
	109.6
	113.6
	118.3
	124.0
	130.7
	136.2
	140.3
	144.5


a.
What is the equation?

b.
When will the C.P.I. be 158.1?

c.
What is the C.P.I. expected to be in 2000?

2.


	Population

(millions)
	17.7
	30.9
	4.9
	13.5
	9.4
	6.8
	18.1
	11.6
	5.0
	1.6

	Licensed Drivers (millions)
	11.4
	20.1
	3.2
	10.6
	6.5
	4.6
	10.8
	7.4
	3.5
	1.1


a.
What is the equation?

b.
How many licensed drivers would you expect to find in a state with a population of 14.6 million?

c.
What would you expect the population of a state to be if there were 12.7  million licensed drivers registered?
